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SM339 –Quiz 1
01/23/07
Instructions:

Rename the document with your alpha code. Put your name and alpha in the top rows of this document Leave the other rows empty – they are for your scores. Save your work to your local PC after finishing each problem.

Email me your quiz before you leave. 

Enter your answer directly in the Word document following the given question.

FIRST, give an answer to the question in one or more simple, direct English sentences. 

THEN, give supporting documentation. This may be in the form of Matlab code or calculator entries.

1. Suppose I wish to test

H0: p=0.3
Ha: p<0.3
Based on the number of successes in 500 trials. If I use the RR={125 or fewer successes}, find the power when p=0.25. 
Answer: 
> 
2. For the problem in #1, find the RR (in terms of the # of successes) that has (=0.05.
Answer: 

>
3. We are evaluating a new route into work to see if it is faster. The mean drive time for the old route was 40 mins. I plan to measure my time for the next 5 trips. What would the average time for these 5 trips have to be in order for me to conclude that the new route is faster? Assume the SD of times is 2.5 mins and that I want (=0.10. 
Answer: 

>
4. I want to determine if VSAT scores for SM121A students are higher than for SM121 students. I plan to sample scores for 10 SM121A students and 15 SM121 students. How much higher would the average have to be for the SM121A students so that I could conclude that the mean VSAT is higher for SM121A? Assume the SD of scores for both courses is 50 and that I want (=.01.    
Answer: 

>
5. There is a saying that “there is no free lunch.” A researcher has some idea of ( and power. She decides that she wants a very small ( and a very high level of power. What is the cost of getting both these?    
Answer: 

>
